Line weight printing changes from 6.0 to 6.5





The logic for printing line weights changed between v6.0 and v6.5.  This is intended as a clearer explanation of how it worked before and how it works now (the same logic applies in v7).





By default, the line wt field in Printer Configuration box is the width of the smallest line your printer can produce (one raster).  You can change (increase) this value.  





In 6.0, the weight of a line object has one added to it and the resulting sum is multiplied times the line wt field value to get the width of printout line.  The formula would be (printed out line width) = ((weight of line object) + (1)) * (line wt field value).  Thus, a line object with a weight of 0 will print out with:  (line width) = (1) * (line wt field value), a line object with a weight of 1 will print out with:  (line width)  = (2) * (line wt field value), etc.





v6.0 


line object wt.      multiplication factor


    0                               1


    1                               2


    2                               3


    3                               4


    .                                 .


    .                                 .





In 6.5, the weight of a line object is multiplied times the line wt field value to get the width of printout line.  The only exception to this is for a line object with a weight of 0.  For such an object, the width at printout time, if the color and layer weights are also 0, is one raster, regardless of the value of the line wt field.  (If color and/or layer weights were non-zero, they would be the expressed weight of the line object but this is the case only when object line weight is 0.)  The formula would be (printed out line width) = (weight of line object) * (line wt field value).  Thus, if the line object weight is 0, then the printed width is 1 raster.  If the line object weight is 1, then the printed width is:  (1) * (line wt field value), if the line object weight is 2, then the printed width is:  (2) * (line wt field value), etc.





v6.5


line object wt.     multiplication factor


    0                               none - prints one raster wide unless there is a color or layer weight


    1                               1


    2                               2


    3                               3


    .                                 .


    .                                 .





